L*/L* IECSRGB lightnesd* normalized ||AY/AY, CIE tristimulus value difference
LILr to the background lightness.*, AVIDY, AY normalized toAY,

3 L*=s(Y/Y)" -t (Yn=100, s=100, n=(1/2,4), t=0)  [14| & L* = 100(Y/Yy)Y?* (Y,=100,Y,=18, 1< Y < 100) [ad]
Lr=r (YY) =t (Y,=18, r=(Y,/Y)" = 48,95) [lcﬂ dY = (2,4 Yo/ 100 Y/Yp) M 424 [2d]
LAL* (=(YIYY)" [1d] dYy = 2,4Yy /Y, 24 [3d]

2,000 dy/rdy, = (YY) M4 [4d]

2 s 4 log(dY/dY,) = (1,4/2,4) logY/Y,) [5d]

Re 2,639

(L*/L* ))=1, m;=0,98 . .

R Tt e Je — 2 v,=18, dY,=0,90, (IY/Y,)=0,048 .
0,293, +% ! ?;,%'eca"m (@@=t =138 » ‘ application
- 0.179 range
o 01 T 10 1Y,=18100y o 01 L79 - =0 ivm18100y
- -1 0 1 2 logY - -1 0 1 2 logY

hec9l-la hec91-2a
(AYIY) 1 AYIY), CIE Y sensitivity (YIAY) I (YIAY), CIE Y-based contrast

SISu=AYMIAYrY), Nnormalized to AY,/Y, CICu=(VIAY)(YiAY), Normalized to Y /AY,

6 L*= 100(Y/Yp) 2% (¥,=100,Y,=18, 1< Y £ 100) i || 3 L*= 100(Y/Yp) > (Y,=100,Y,=18, 1< Y < 100) [h]
dY/Y = (2,4/100) (Y/Yp) - 424 12f YIdY = (2,4/100) Y, 241424 [2h]
dyiy=cy'? 13 Yidy = e (YIY) 424 [3h]
dY/Y=d-(YIYg) Y24 41 YidY = £ (YY) H 424 2,000 [4h]

4 ¢=0,163 3,.406 d=0,882 | 2 e =611,582 f=3301,396 " [5h

R L* =50, Y,=18 dY,=0,90, {f/dY,)=21 ¢’
. ——  [(Y/Y)/(Y/idY) =1, my=098 .

2 \ . application N i R P

[(dY/Y)/(dYIY)]=1, m;=—-0,93 & range e’ application

V<16 dv,20.90, (vIv)=0.048 o ~ & 0499 029837 range
0 0,1 1 10 ,Y,=1818%0y o 0,1 10 "Y,=18100y

-2 -1 0 1 2 logY - -1 0 1 2 logY

hec91-3a hec91-4a

hec91-3n




